Task 3 — Maths - Perimeter

Use squared paper. Each square = 1m x 1m.
2 Animals .at a zoo need different size
enclosures depending .on the animals size.

¢ Using youwr knowledge of composite

§ rectilinear shape perimeters, you must sabisfy
d the f,oll,ow,mg ,rzquimmznbs when designing
GDIJU.(LS. le,g,ouu,a enclosure must have a perimeter o S,e,a,,u,o,n/s,, less than 36 metres.

of 42 metres. o Tigers: owver 8| metres.

e Zehros: 60 metres. e Pandas: onver 75 metres.

o Giraffes: 108 metres. . gmngo,@s; x,vg;ar 33 imetres.

5 E N o T e Bears: owner metres and less
Aaprians o than 200 mebres.

e Bats: 24 metres.



